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TRIGONOMETRY (Practice Sheet -6)

Questions which can be solved by using

options & assuming values

2 +tan® 0 +cot?0
secO.cosecO
SSC CGL 4 June 2019 (Morning)
(b) cosO.sind
(d) tan6

The value of 6 when ,/3cos@+ sind = 1
(0° < 0 <90°), is
SSC CGL 4 June 2019 (Evening)

is equal to :

(a) cotb
(c) secO.cosecH

(a) 90° (b) 60°
(c) 30° (d@) o°
The value of [gec?0 +cosec?® *

Jtan?0 - sin’@ is equal to :
SSC CGL 6 June 2019 (Morning)
(a) cosech. sec’0  (b) sin6. sec?0
(c) sind. cos?0 (d) cosecf. cos?0
(cosecA - sinA)? + (secA — cosA)? —(cotA -
tanA)? is equal to :
SSC CPO 2018, 16 March 2019 (Evening)
(a) 2 (b) O
(c) 1 (d) -1
If 3sinf = 2cos?0, 0° < 0 < 90°, then the
value of (tan?0 + sec?0 — cosec?0) is :
SSC CGL 10 June 2019 (Morning)

7
(b) -3

(a) -2 1

7
© 3 @ 2

2
If sin0.sec?%0 = 3’ 0° < 6 < 90° then the

value of (tan?0 + cos?0) is :
SSC CHSL 3 July 2019 (Morning)

7 b 11
@ b
13 5
(c) 12 (d) 2
2sinx c
Let a = and b =

1+ sinx + cosx 1+sinx’
Ifa=bthenc=7?

SSC CGL 6 June 2019 (Afternoon)

10.

11.

12,

13.

14.

(a) 1 - sinx.cosx
(c) 1 + sinx.cosx

(b) 1 + sinx - cosx
(d) 1 + cosx.sinx

cos0.
sina + cosf

cosp X
sinB -cosa ~ sino - cosp

If

cosf
* sinf + coso
SSC CHSL 8 July 2019 (Morning)
(a) cosp (b) cosa
(c) sinf (d) sina
The value of the expression
(cos®0 + sin%) — 1)(tan?0 + cot?0 + 2) is :
SSC CGL Tier-II (11 September, 2019)
(b) -1
(d) 1

, then x is equal to :

(a) O
(c) -3
(2sinA)(1 + sinA) is equal to :
1+sinA + cosA

SSC CGL Tier-II (11 September, 2019)
(a) 1 + sinA - cosA (b) 1 - sinA.cosA
(c) 1+ cosA-sinA (d) 1+ sinA .cosA
The value of tanZp + cot?¢p - sec?p.cosec?p
is equal to :

SSC CGL Tier-II (12 September, 2019)
(a) -2 (b) 1
(c) O (d) -1
The value of (1 + cotd - cosecO)(1 + cosb
+sinf) secd = ?

SSC CGL Tier-II (13 September, 2019)
(b) 2
(d) sin6.cosf

(a) -2
(c) secO.cosechH
The value of
2(sin®@ + cos°®0) - 3(sin*0 + cos*0) ,
cos’0 - sin*0 - 2cos’0 18
SSC CGL Tier-II (13 September, 2019)
(b) -2
(d) 1

(a) -1
(c) 2
1- sin®0cos?0 .
The value of Sin"8 +cos'® 1lis:
SSC CGL 7 March 2020 (Morning)
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15.

16.

17.

18.

19.

20.

21.

22.

23.

(a) —2sin?0 cos?0 (b) -1
(c) O (d) 1
(1+ sin® - cosO) (1+sin® + cos0)

f (1+sin@ + cos0) * (1+ sin® - cos0) =%
then which of the following values will be
suitable for 6 ?

SSC CHSL 13/10/2020 (Afternoon)
(a) 90° (b) 60°
(c) 45° (d) 30°
If x = cosecA + cosA and y = cosecA -
cosA, then find the value of

2 2
ahy)
xX+y 2 ’
SSC CHSL 19/10/2020 (Morning)
(a) 3 (b) O
(c) 2 (d) 1
The value of (tan?A + cot?A - 2) -

sec?Acosec?A is :
CGL 2019 Tier-II (16/10/2020)

(b) -1
(d) 4
[1+5in@
8 1-sin@
CGL 2019 Tier-II (16/10/2020)
(a) 1 (b) -1
(c) -2 (d) 2
secA(secA + tanA)(1-sinA)
(cosec’A -1)sin’A
CGL 2019 Tier-II (16/10/2020)
(a) sec?A (b) cosZA
(c) cotA (d) cosA
The value of 3(sinx - cosx)* + 6(sinx +
cosx)? + 4(sinx + cos®x) is :
(a) 14 (b) 11
(c) 12 (d) 13
The value of the following is : 3(sin’q +
cos*q) + 2(sing + cos®q) + 12sin?g.cos?q
(a) O (b) 3
(c) 2 (d) 5
If x = a(sinq + cos(), y = (sinq - cosq),
X2 2
then the value of a_2+_2 is:

b
(a) O (b) 1
(c) 2 (d) -2
If x = a secqcosf, y = bsecq.sinf, z = ¢
X2 y2 2 )
tang, then the value of el + b oF is :
SSC CHSL 15/10/2020 (Evening)

(a) -4
(c) 1

sin® + cosO -1
sin@ -cosO +1

The value of

is equal to :

24,

25.

26.

27.

28.

29.

30.

(a) 1 (b) 4

(c) 9 (d) 0O

If (1 + sina)(1 + sinb)(1 + sing) = (1 - sina)
(1 — sinb)(1 - sing), then each side is equal
to:

(a) * cosa. cosb. cosg
(b) * sina. sinb. sing
(c) * sina. cosb. cosg.
(d) * sina. sinb. cosg

If cosecq - sing = x and sec( - cos( = y,
then

2 20 2 2
x3y3 (xs +y3j =9
(a) O (b) 1
(c) -1 (d) 2
If sing + sin2q = x and cos( + cos2(q = y,
then (x> + P?)(x* + y?-3)=?
(a) 2y
(b) 3y
(c) -2y
(d) 4y
If A, B, C are the agles of a triangle, then

the value of expressionsin®A + sin’B +
sin?C - 2cosA.cosB.cosC = ?

(a) 1 (b) 2

(c) 3 (d) 4

1 + cos2x + cos4x + cosbx = ?
(a) 2cosx.cos2x.cos3x

(b) 4sinx.cos2x.cos3x

(c) 4cosx.cos2x.cos3x

(d) cosx.cos2x.cos3x

What is the value of sin(B — C) cos(A - D)
+ sin(A - B)cos(C - D) + sin(C - A)cos(B -
D) ?

3
(@ 5
(c) 1 (d) 0
IfP + Q + R = 60° then what is the value

of cosQ.cosR (cosP - sinP) + sinQ.sinR
(sinP - cosP)

(b) -3

1

@ 5 (b) g
1
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31. What is the value of 37. The expression 3sec?0.tan?0 + tan®0 — sec®0
] ] ) is equal to :
[sin(y - z) + sin(y + z) + 2siny] SSC CGL 4 March 2020 (Afternoon)
[sin(x - z) + sin(x + 2z) + 2sinx] * (a) -2 (b) 1
- . siny (c) 2 (d -1
(a) cosx.sin y (b) sinx 38. The value of
(c) sin z (d) sinx.tany sec’0 - tan®0 - 3sec’Otan’0 +1
cos*0 - sin*0 + 2sin’0 + 2
- . tan® . cot® 1tk th . SSC CGL 5 March 2020 (Morning)
’ 1-cot® 1-tan® > Laen k= (@) 2 b) 1
SSC CGL 7 June 2019 (Evening) 3
(a) cotO + secO (b) tan6.cosecH 3 1
(c) tand + seco (d) coseco.seco (c) 4 (d) 2
33. (2sin-A)(1 + sinf) is equal to : 4l 1 secA)’ +(1+secA)” | .
1+ sinA + cosA 39. The value of 1+ sec’A 1s @
SSC CGL Tier-II (11 September 2019) SSC CGL 6 March 2020 (Evening)
(a) 1 + sinA - cosA (b) 1 - sinAcosA (a) 2 (b) 4
(c) 1+ cosA -sinA (d) 1 + sinAcosA (c) 8 (d) 1
34. '.I‘he vallu : o.f tan’y + cot’p - sec’p.cosec’s 40. If x = cosecA + cosA and y = cosecA -
is equal to : cosA, then find the value of
SSC CGL Tier-II (12 September 2019) 2 )
(a) - 2 (b) 1 ( 1 ) (2] 1.
(c) O (d) -1 X +y 2
35. The value of SSC CHSL 19/10/2020 (Morning)
sec’0  cosec?0 20 + . (a) 3 (b) O
cosec’®0  sec’ (sec® + cosec™) is : (c) 2 (d) 1
41. The value of (tan®A + cot?A - 2) - sec?A
SSC CGL Tier-II (13 September 2019) cosec?A is :
(a) O (b) -2 SSC CGL 2019, Tier-II (16/10/2020)
(c) 2 (d) 1 (a) -4 (b) -1
36. The value of (c) 1 (d) 4
2(sin°@ + cos®0) - 3(sin’@ + cos®O) . 42. If (sind + cosecO)? + (cosh + secO)?= k + tan?0
cos*0 -sin’0 - 2cos’0 18 + cot?0, then the value of k is equal to :
SSC CGL Tier-II (13 September 2019) SSC CGL 2019, Tier-II (18/10/2020)
(a) -1 (b) -2 (a) 7 (b) 2
Answer Key
4 )
1.(c) 2.(a) 3.(b) 4.(c) 5.(b) 6.(c) 7.(b) 8.(b) 9.(c) 10.(a)
11.(a) | 12.b) | 13.(d)| 14.(a)| 15.(d)| 16.(b) | 17.(a)| 18.(a)| 19.(a) 20.(d)
21.(d) [ 22.(c) | 23.(a)| 24.(a)| 25.(b) | 26.(a) | 27.(b) | 28.(c)| 29.(d) 30.(a)
31.(b) 32.(d) | 33.(a)| 34.(a)| 35.(b) | 36.(d) | 37.(d)| 38.(a)| 39.(c) 40.(b)
41.(a) 42.(a)
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